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d
. Use the Chain Rule to find d_i given z = xIn(z + 2y), © = sin(t), y = cos(t).

. Use the Chain Rule to find 9z and 9z given z = sin(u) tan(v), u = 3z +y, v = x — .

ox oy
0
. Use the Chain Rule to find a—l: and 8_2] given w = \/f—iiyf r =12 y=cos(f), z ="

d
. Differentiate implicitly to find d_y given
x

sin(x) + cos(y) = 7+ sin(x) cos(y).

. Differentiate implicitly to find % and % where
ox dy

2® — Yy +2° = 2wyz.

0 0
. Differentiate implicitly to find 2% and Z where

ox dy

sin?(7) cos(z) = tan(z) + sec(z) csc(y).



